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restart;
x1:=c1^alpha*c2^(1-alpha);

x1 := c1α c21Kα

x2:=y-p1*c1-p2*c2;
x2 := yKp1 c1Kp2 c2

x3:=extrema(x1,{x2},{c1,c2},'x4');

x3 := K

y α
p1

α

 K1Cα  y K
K1Cα  y

p2

Kα

p2
x4;

c1 =
y α
p1

, c2 =K
K1Cα  y

p2
x5:=x1+lambda*x2;

x5 := c1α c21KαCλ yKp1 c1Kp2 c2

x6:={diff(x5,c1),diff(x5,c2),diff(x5,lambda)};

x6 :=
c1α α c21Kα

c1
Kλ p1,

c1α c21Kα 1Kα
c2

Kλ p2, yKp1 c1Kp2 c2

x7:=solve(x6,{c1,c2,lambda});

x7 := c1 =
y α
p1

, c2 =K
K1Cα  y

p2
, λ =K

K1Cα  e
Kα ln K

p1 K1Cα
α p2

p2


